VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Si No	- 1	Seat No.	Name		rative ammin g			Electr	ital onics				rating ems	Syst	rating tems ctical)	Mathe	matics	Mathe		ion S		ion S	nunicat Skills ctical)	Total Marks		Credits Earned		Gr- ade
					SEE		SEE				SEE		SEE				SEE		SEE				SEE	l .				
				10/25	30/75	0/0	20/50	10/25	30//5	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30//5	0/0	20/50	10/25	30//5	0/0	20/50					
	1	FBSCIT21012	DALMEDA AARAV SURAJ FLAVIA	\$15	\$42		\$25	\$23	\$62		\$20	\$20	\$30		\$20	\$16	\$45		20	\$23	\$59		\$30	450	134	20	6.70	В

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Sr. No.	Seat No.	Name	g Prir	ammin iciples h C	g Prin		aı	Logic nd ations	_	nd	ls	amenta of abase	ls	menta of base		ic and	al Log	utation gic and crete		unicat			Total Marks		Credits Earned	SGPA	Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50					
2	FBSCIT22033	/ GUPTA ROSHNI KUMARI SRI BHUSHAN POONAMDEVI	\$10	\$40		\$44	\$14	0		\$40	\$10	\$30		\$26	\$10	30		\$28	\$15	\$33		\$28	358	118	18		F
3	FBSCIT22085	SHAH DHEERAJ INDRAJEET SHIROMANI	\$10	\$37		\$46	\$17	\$30		\$39	\$10	AB		\$45	\$21	\$52		\$39	\$14	\$30		\$33	423	138	18		F
4	FBSCIT22095	SHAIKH MOHAMMED AHMED ABDUL BADSHAH SHAHNAZ BEGUM	\$10	\$30		\$46	\$11	\$30		\$47	\$10	AB		\$46	\$11	\$30		\$38	\$10	15		\$30	364	118	16		F
5	FBSCIT22102	SHAIKH ZAID NOOR TAZAIN	\$10	\$30		\$25	\$10	\$30		20	\$10	\$30		\$20	\$10	6		24	\$11	\$30		29	295	84	18		F
6	FBSCIT22118	/ TAWADE ATHARVA RAJENDRA RUSHIKA	\$10	\$30		\$20	\$10	\$30		\$20	10	3		\$20	10	\$30		\$25	\$10	\$30		\$20	278	76	18		F
7	FBSCIT22125	/ VISHWAKARMA KRISHNA PANKAJ SHILADEVI	\$10	\$38		\$44	\$10	\$30		\$21	\$10	\$30		\$35	\$10	\$31		\$38	\$10	8		\$32	357	114	18		F
8	FBSCIT22129	YADAV AKHILESHKUMAR HINCHHA PRASAD KALAWATI	\$10	\$31		\$30	\$10	\$30		\$35	\$10	7		\$24	\$10	\$30		\$29	10	7		\$25	298	94	16		F
9	FBSCIT22138	YADAV SUMIT HARENDRA PARAMSHILA	\$10	\$30		\$44	\$10	0		\$20	\$10	5		\$22	\$11	\$30		\$28	\$10	0		\$28	258	80	14		F
10	FBSCIT23001	AHIRE TUSHAR BALASAHEB MUKTABAI	\$18	30		\$20	\$16	7		\$36	\$17	30		\$20	10	30		24	\$16	12		\$42	328	92	16		F
11	FBSCIT23002	/ ANSARI KHUSHNUD RAFIQ HAJRA	\$15	30		\$22	\$22	7		\$36	\$20	7		\$26	10	30		\$20	\$16	\$30		\$33	324	90	16		F
12	FBSCIT23005	BAGWE ADITYA SACHIN SRUSHTI	\$20	12		\$45	\$22	5		\$20	\$18	13		\$42	10	\$30		\$20	\$19	\$30		\$27	333	86	14		F
13	FBSCIT23008	CHAUDHARY MURARI KUMAR HARINDRA MAMTA DEVI	\$12	30		\$22	\$22	5		\$36	\$20	30		\$20	10	8		\$27	\$17	3		\$32	294	82	14		F
14	FBSCIT23010	CHAVAN AMEYA RAVINDRA JAYASHRI	\$18	\$32		\$32	\$25	\$39		\$36	\$21	\$30		\$24	10	\$34		\$20	\$17	\$30		\$49	417	130	20	6.50	В

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Sr.	Seat No.	Name		ammin	Progr	ammin	Digital	l Logic	Digita	I Logic	Funda	menta	Funda	amenta				utation	l .		Tech	nical	Total	Sum	Credits	SGPA	Gr-
No.			١ -	nciples h C		ciples C (P)	•	nd	-	nd cation		of base		of base	۰ ۲	ic and crete	,	gic and crete	Comm ion S		Comm ion Sk		Marks	CG	Earned		ade
			H					ations																			1
			10/25	SEE 30/75	0/0	SEE 20/50	1A 10/25	SEE 30/75	0/0	SEE 20/50	1A 10/25	SEE 30/75	0/0	SEE 20/50	10/25	SEE 30/75	0/0	SEE 20/50	1A 10/25	SEE 30/75	0/0	SEE 20/50					1
15	FBSCIT23011	/ CHETTY MERCY SAKKARIYAS JACKLIN MERY	\$16	\$32		\$28	\$16	30		\$36	\$22	\$40		\$34	10	\$33		\$30	\$20	\$34		\$43	424	140	20	7.00	B+
16	FBSCIT23012	CHOUDHARY SUDHANSHU VISHWAJEET SHABANAM DEVI	10	\$43		\$27	10	\$52		\$31	10	\$32		\$20	10	34		\$41	10	\$34		\$27	391	120	20	6.00	В
17	FBSCIT23013	CHOUDHRY RAFATULLAH MUJIBULLAH SAEEDUNNISA	\$17	\$36		\$43	\$15	\$34		\$46	\$22	\$30		\$31	10	\$39		\$38	\$17	13		\$27	418	130	18		F
18	FBSCIT23014	DABADE TEJAS VIJAY VIDYA	\$23	\$47		36	\$25	\$37		\$36	\$20	\$30		\$47	10	\$48		\$50	\$16	\$35		\$28	488	162	20	8.10	Α
19	FBSCIT23015	/ DEWALGUD MARIAMMA NINGAPPA DEVAMMA	\$18	\$30		\$20	\$22	8		\$36	\$20	30		\$21	10	30		36	\$16	\$30		\$42	369	112	18		F
20	FBSCIT23017	DHOBI DEEPAK SURAJ POONAM	\$12	\$30		\$26	\$14	\$30		\$25	\$12	\$30		\$20	10	\$30		\$20	10	\$30		\$22	321	88	20	4.40	D
21	FBSCIT23018	DHURIYA ALOK KUMAR RAJENDRA KUMAR ANITADEVI	\$12	\$30		\$37	\$17	\$33		\$35	\$20	\$30		\$25	10	\$33		\$26	\$16	\$30		\$42	396	130	20	6.50	В
22	FBSCIT23019	DUBEY DEEPAK MANOJ SHEELA	\$20	\$38		\$43	\$22	\$31		\$30	\$23	\$30		\$29	\$15	\$41		\$33	\$16	17		\$27	415	130	18		F
23	FBSCIT23020	GODGENPALLI VENKATESH MALLESH MADHAVI	\$18	\$46		\$50	\$22	\$30		\$46	\$19	\$36		\$28	10	\$30		\$22	\$17	\$37		\$45	456	144	20	7.20	B+
24	FBSCIT23023	GUPTA SHEKHAR PHOOLCHANDRA RENU	\$20	\$30		\$33	\$22	9		\$38	\$20	30		\$28	\$12	\$30		\$43	\$17	51		\$42	425	136	18		F
25	FBSCIT23024	/ GUPTA URVASHI RAJENDRA KUSUM	\$12	\$30		\$21	\$21	10		\$30	\$22	\$30		\$32	10	17		\$24	\$18	\$30		\$40	347	100	16		F
26	FBSCIT23025	/ HANDE RIDDHI JAYSANTOSH SUPRIYA	\$18	\$30		\$46	\$25	\$42		\$36	\$25	\$30		\$42	10	55		\$43	\$17	\$35		\$44	498	166	20	8.30	А
27	FBSCIT23026	HASHMI MOHD FARHAN MOHD SULTAN REHANA BEGUM	\$15	\$30		\$27	\$14	3		\$36	\$23	30		\$28	10	11		\$20	\$16	30		\$32	325	100	16		F
28	FBSCIT23027	HASOTKAR PRATHAM SANTOSH APARNA	\$15	\$32		\$20	\$22	\$30		\$36	\$21	30		\$27	10	33		\$27	\$17	\$38		\$47	405	126	20	6.30	В

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

		Buenelor of Science (Informati					<u> </u>							_/// \							,						
Sr. No.	Seat No.	Name	1 -	rammin nciples	1 -	ammin nciples	Digital ar		-	l Logic nd		amenta of						utation gic and				nnical nunicat	Total Marks		Credits Earned	SGPA	Gr- ade
			wi	th C		C (P)	Applic	ations	Appli	cation	Data	abase	Data	base		rete	1	crete	ion S			kills (P)	Marks				
			IA	SEE	ΙA	SEE	ΙA	SEE	IA	SEE	ΙA	SEE	ΙA	SEE	ΙA	SEE	IA	SEE	IA	SEE	IA	SEE					
			10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50					
29	FBSCIT23028	ABDUL AHAD MUZAMMIL HUSAIN AFREEN BANO	\$15	16		\$22	\$19	\$30		\$30	\$17	\$30		\$35	10	40		\$20	\$16	\$30		\$43	373	112	18		F
30	FBSCIT23029	JAISWAL KRISH KUMAR ANIL KUMAR RANI	\$14	30		\$20	\$21	2		\$35	\$10	4		\$33	10	\$30		\$48	\$17	18		\$27	319	90	14		F
31	FBSCIT23031	JAISWAR NIKHIL RAMSHAKAL SANGEETA	\$16	\$37		\$31	\$15	\$36		\$46	\$14	\$30		\$35	\$13	\$42		40	\$16	\$43		\$49	463	154	20	7.70	B+
32	FBSCIT23032	/ JAMBOTKAR DIMPLE GURUNATH RENUKA	\$23	\$45		\$45	\$21	\$31		\$46	\$25	\$30		\$41	10	\$37		\$47	\$16	\$36		\$42	495	164	20	8.20	А
33	FBSCIT23033	JHA ANSHKUMAR PRAMODKUMAR NIBHA	\$12	\$34		\$37	\$15	\$35		\$36	\$23	\$30		\$36	10	\$30		25	\$17	\$32		\$48	420	138	20	6.90	В
34	FBSCIT23034	/ JOSHI PRACHI HARISH BHAVANA	\$14	\$30		\$35	\$23	\$30		\$36	\$18	\$30		\$35	10	30		\$47	\$15	\$31		\$32	416	138	20	6.90	В
35	FBSCIT23036	/ KALSEKAR VIDULA PRAVIN RAJASHRI	\$15	\$30		\$22	\$21	\$30		\$36	\$23	\$30		\$29	10	30		\$20	\$17	\$31		\$46	390	120	20	6.00	В
36	FBSCIT23038	KHAN ALI IRFAN PARVEEN	\$18	\$30		\$24	\$24	\$35		\$46	\$19	\$30		\$33	10	\$39		\$35	\$17	\$30		\$42	432	138	20	6.90	В
37	FBSCIT23040	KHAN MOHD FARDEEN FIROJ KHAN SANJIDA KHAN	\$16	\$50		\$27	\$20	\$45		\$37	\$20	\$30		\$41	10	\$35		\$27	\$17	\$30		\$48	453	146	20	7.30	B+
38	FBSCIT23041	KHAN SHAHID ALI AZGAR ALI SHAMIM	\$12	\$30		\$29	\$15	4		\$36	\$12	\$30		\$20	10	11		30	\$16	30		\$35	320	100	16		F
39	FBSCIT23042	KHAN ZAHIR ABDUL RAIS RAKIBUNNISHA	\$14	\$45		\$49	\$21	\$52		\$46	\$21	\$36		\$33	10	\$37		\$23	\$15	\$34		\$22	458	140	20	7.00	B+
40	FBSCIT23043	KOKARE PRATIK PRAKASH PRATIBHA	\$12	\$30		\$36	\$15	\$30		\$46	\$14	30		\$30	10	39		39	\$15	\$30		\$42	418	138	20	6.90	В
41	FBSCIT23045	/ KORDE TANVI ARVIND SHILPA	\$12	\$30		\$20	\$25	30		\$46	\$21	14		\$20	10	44		\$26	\$17	16		\$43	374	102	16		F
42	FBSCIT23046	LAMGADE SANDESH BABURAM KAMALA	\$12	\$34		\$27	\$22	\$55		\$46	\$19	\$31		\$31	10	\$30		\$22	\$17	\$30		\$32	418	130	20	6.50	В

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Sr.	Seat No.	Name					Digita	l Logic	Digita	l Logic	Funda	amenta									Tech		Total	Sum	Credits	SGP#	Gr-
No.			١ -	nciples th C		nciples C (P)		nd ations	-	nd cation		of abase	_	of abase	١ ١	jic and crete	,	gic and crete	Comm ion S		Comm ion Sk		Marks	CG	Earned		ade
			IA.	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE		SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
			10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75		20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50					
43	FBSCIT23048	MAHTO ROHITKUMAR SANJAYKUMAR GYANTIDEVI	\$16	\$30		\$28	\$19	\$46		\$36	\$24	\$32		\$42	10	\$30		\$37	\$17	\$32		\$45	444	148	20	7.40) B+
44	FBSCIT23050	MALLAH UJWAL SURESH SARITA	\$14	\$35		\$22	\$14	\$36		\$36	\$24	\$30		\$29	10	30		\$46	10	\$30		\$37	403	128	20	6.40	В
45	FBSCIT23051	MARATHE MAYUR SHAILESH SUVARNA	\$10	30		\$20	\$17	12		\$32	\$17	16		\$28	10	30		\$20	\$15	\$33		\$47	337	92	16		F
46	FBSCIT23052	MISAL YASH RAVI RENU	\$12	12		\$20	\$16	13		\$25	\$17	7		\$31	\$10	\$30		\$27	10	\$30		\$42	302	84	14		F
47	FBSCIT23053	MISHRA RAJKUMAR MANISH SADHANA	\$18	\$32		\$23	\$25	\$31		\$46	\$22	\$30		\$41	10	\$32		\$22	\$17	\$33		\$40	422	136	20	6.80	В
48	FBSCIT23054	/ NIMISHAKAVI VINETA SHEKHAR LAXMI	\$14	\$33		\$47	\$19	\$38		\$37	\$22	\$44		\$46	10	\$38		\$42	\$16	\$37		\$42	485	160	20	8.00) A
49	FBSCIT23055	PADWAL MANAV SANTOSH SAKSHI	\$20	\$37		\$32	\$21	\$30		\$33	\$20	30		\$30	\$12	\$30		\$46	\$16	\$30		\$48	435	144	20	7.20) B+
50	FBSCIT23056	/ PALAV SALONI VIVEK VARSHA	\$12	\$40		\$37	\$20	\$35		\$36	\$23	\$30		\$35	10	\$30		\$32	\$17	\$30		\$45	432	146	20	7.30	B+
51	FBSCIT23057	/ PAL NEHARIKA PINTU BABITA	\$14	\$30		\$23	\$16	\$30		\$33	\$19	\$30		\$39	10	34		\$20	\$18	\$31		\$45	392	118	20	5.90) C
52	FBSCIT23058	PARAB AAYUSH VILAS SAYALI	\$12	\$44		\$33	\$24	\$50		\$46	\$20	\$43		\$39	10	55		\$20	\$16	\$41		\$42	495	160	20	8.00) A
53	FBSCIT23060	PATEL VIN HASMUKH BHAVIKA	\$14	\$41		\$44	\$20	\$30		\$35	\$11	\$42		\$35	10	\$30		\$42	\$16	\$36		\$40	446	154	20	7.70) B+
54	FBSCIT23061	/ PATIL SAMIKSHA RAKESH TINKU	\$12	\$30		\$43	\$21	30		\$36	\$21	\$30		\$40	\$11	\$41		39	\$16	\$33		\$42	445	150	20	7.50) B+
55	FBSCIT23062	/ PATIL SHRAVANI SAHEBRAO SWATI	\$14	\$30		\$21	\$25	15		\$37	\$20	\$30		\$23	10	\$30		\$28	\$17	30		\$37	367	106	18		F
56	FBSCIT23063	PATKAR SUYOG SUHAS YOGITA	\$20	\$42		\$48	\$20	\$33		\$46	\$22	\$30		\$40	10	\$44		46	\$16	\$43		\$43	503	166	20	8.30) A
57	FBSCIT23064	/ PAWAR SANIKA SANJAY SANJIVANI	\$12	\$38		\$40	\$18	\$45		\$36	\$19	\$31		\$32	10	\$42		39	\$17	\$30		\$40	449	154	20	7.70) B+
58	FBSCIT23066	POOJARI GANESH MALLESH RADHA	\$12	\$30		\$32	\$15	\$30		\$36	\$20	30		\$27	10	44		\$20	\$17	\$38		\$42	403	130	20	6.50	В

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Sr. No.	Seat No.	Name	g Prir	ammin nciples th C	g Prir		Digital ar Applic	nd	•	nd	ls	amenta of abase	ls		al Log		al Log	utation gic and crete		unicat	Tech Comm ion Sk	nunicat	Total Marks	Sum CG	Credits Earned	SGPA	Gr- ade
			IA 10/25	SEE 30/75	0/0	SEE 20/50	IA 10/25	SEE 30/75	0/0	SEE 20/50	IA 10/25	SEE 30/75	0/0	SEE 20/50		SEE 30/75	0/0	SEE 20/50	IA 10/25	SEE 30/75	0/0	SEE 20/50	•				
59	FBSCIT23068	PRAJAPATI SHIVAM DEEPCHANDRA KUSUM DEVI	\$12	\$30		\$37	\$15	10		\$36	\$20	30		\$20	10	30		\$20	\$15	6		\$20	311	88	16		F
60	FBSCIT23069	RAJPUROHIT HARISH NARPAT SINGH KIRAN	\$18	\$30		\$38	\$15	10		\$30	\$15	18		\$20	10	42		25	\$17	\$30		\$42	360	106	16		F
61	FBSCIT23070	/ RAWAT HARSHITA PRAKASH CHANDRA SHANTA DEVI	\$14	\$30		\$22	\$25	0		\$33	\$16	30		\$20	10	9		24	10	3		\$27	273	72	14		F
62	FBSCIT23071	RAWAT SAGARSINGH CHANDANSINGH MEENA	\$16	\$30		\$20	\$25	8		\$36	\$23	30		\$29	10	10		\$20	\$16	\$42		\$42	357	104	16		F
63	FBSCIT23072	/ ROUNDHAL TANUJA TANAJI SHOBHA	\$12	\$45		\$43	\$25	\$42		\$36	\$22	\$32		\$25	10	\$30		36	\$17	\$30		\$37	442	146	20	7.30	B+
64	FBSCIT23074	SAHANI RAJ RAMESH PRABHAWATI	\$14	\$30		\$23	\$25	\$41		\$36	\$22	\$30		\$26	10	\$30		26	\$17	\$30		\$47	407	126	20	6.30	В
65	FBSCIT23076	SALGAONKAR SOHAM JITENDRA JYOTI	\$16	30		\$25	\$15	1		\$20	\$15	30		\$20	10	30		20	10	\$33		\$35	310	90	18		F
66	FBSCIT23078	SHAIKH ABDUL QADER MOHAMMED AZEEM HUMAIRA	\$18	\$30		\$45	\$24	\$30		\$30	\$23	30		\$36	10	\$44		\$24	\$17	\$30		\$45	436	140	20	7.00	B+
67	FBSCIT23079	/ SHAIKH ASMA MOHAMMED SALIYA NOORJAHAN	\$14	\$30		\$20	\$25	\$30		\$36	\$17	\$30		\$27	10	AB		24	\$17	\$34		\$37	351	110	18		F
68	FBSCIT23080	SHAIKH FARDEEN MOHD HUSAIN MEHBOOB BEE	\$12	\$30		\$32	\$15	1		\$33	\$17	19		\$32	10	30		\$20	\$17	30		\$37	335	100	16		F
69	FBSCIT23081	/ SHAIKH JUWAYRIYAH ABDUL RAFIQ RUBINA	\$12	30		\$27	\$23	12		\$30	\$25	30		\$26	10	\$30		21	\$16	\$40		\$27	359	104	18		F
70	FBSCIT23084	SHAIKH MERAAJ MEHMOOD KULSUM	\$15	\$38		\$37	\$16	\$44		\$32	\$22	\$30		\$29	10	\$30		\$26	\$16	\$35		\$45	425	140	20	7.00	B+

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Sr. No.	Seat No.	Name		ammin nciples		ammin nciples		l Logic nd	_	ıl Logic nd		amenta of		amenta of				utation ic and				nnical	Total		Credits Earned	SGPA	1 1
140.			١ -	h C	١ -	C (P)		ations		cation		abase		abase	۰ ۲	crete	,	crete	ion S		ion Sk		Marks	CG	Eameu		ade
			IA 10/25	SEE 30/75	0/0	SEE 20/50	IA 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	0/0	SEE 20/50					
71	FBSCIT23085	SHAIKH MOHAMMED SAIF DAWOOD RAEESA	\$14	\$33	0/0	\$42	\$20	\$32	0,0	\$47	\$21	\$34	0,0	\$28	10	\$38	0,0	\$22	\$17	\$38	0,0	\$42	438	142	20	7.10	B+
72	FBSCIT23086	SHAIKH MOHD AFFAN JABIR MEHPARA	\$15	\$30		\$28	\$25	\$30		\$36	\$24	16		\$39	10	18		\$20	\$16	\$30		\$42	379	112	16		F
73	FBSCIT23088	/ SHAIKH SADIYA IMTIYAZ AHMED SHARIFA	\$14	\$50		\$23	\$24	\$49		\$46	\$20	\$45		\$45	10	\$44		37	\$17	\$38		\$42	504	164	20	8.20	А
74	FBSCIT23089	SHAIKH SHADAB BASAR GULAM SABIR FAHMIDA KHATOON	\$12	\$31		\$43	\$16	\$30		\$36	\$23	\$30		\$20	\$13	\$30		\$38	\$16	30		\$42	410	132	20	6.60	В
75	FBSCIT23090	SHAIKH SOHAIL MOHAMMED QASIM NADIYA ANJUM	\$16	\$30		\$24	\$23	12		\$37	\$17	30		\$20	10	30		37	\$16	30		\$43	375	112	18		F
76	FBSCIT23092	/ SHARMA SHWETA SANTOSH MANITA	\$12	\$32		\$26	\$20	15		\$36	\$20	30		\$26	10	19		\$20	\$15	\$30		\$37	348	98	16		F
77	FBSCIT23095	SINGH YESH VINOD KUMAR RANJANA	\$12	\$30		\$42	\$19	\$30		\$20	\$19	\$30		\$20	10	30		\$20	\$15	38		\$45	380	112	20	5.60	С
78	FBSCIT23098	SURYAWANSHI RITESH PRASKASH SAVITA	\$14	30		\$27	\$22	7		\$36	\$15	30		\$28	10	30		24	\$16	\$36		\$42	367	112	18		F
79	FBSCIT23100	/ TANDEL JANHAVI BHAGVAN NIRMALA	\$23	\$30		\$43	\$20	\$30		\$37	\$21	\$30		\$25	10	36		\$20	\$16	14		\$42	397	124	18		F
80	FBSCIT23102	/ UDAIYAR SANDHYA ADHINARAYANAN BHARATI	\$16	\$30		\$22	\$24	\$30		\$46	\$18	\$30		\$26	10	36		30	\$17	\$33		\$43	411	130	20	6.50	В
81	FBSCIT23103	UTEKAR SANJYOT SACHIN SAKSHI	\$22	\$41		\$28	\$22	30		\$45	\$21	\$30		\$29	10	33		\$21	\$17	\$30		\$42	421	134	20	6.70	В
82	FBSCIT23104	VAISHNAV OMDAS BABUDAS VANITA	\$12	07		\$20	\$16	9		\$35	\$17	14		\$25	10	30		\$27	\$17	\$30		\$42	311	88	14		F
83	FBSCIT23106	/ VISHWAKARMA MAHEK RAJENDRA LALLI	\$12	\$30		\$27	\$23	10		\$30	\$18	30		\$27	10	30		\$22	10	12		\$37	328	92	16		F

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Sr. No.	Seat No.	Name	g Prir	ammin nciples th C	g Prir	ciples		nd	a	Il Logic nd cation	ls	amenta of abase	ls		al Log		al Log		Comm				Total Marks	Sum CG	Credits Earned	SGPA	Gr- ade
			IA 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	1A 0/0	SEE 20/50		SEE 30/75		SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	1A 0/0	SEE 20/50					
84	FBSCIT23107	VISHWAKARMA VIVEK BHARAT DHANA	\$10	\$30		\$20	\$19	30		\$35	\$17	\$30		\$24	\$10	34		25	\$15	\$43		\$37	379	116	20	5.80	С
85	FBSCIT23108	WAGHMARE HARSHVARDHAN NAVNEET PUSHPALATA	\$12	\$30		\$20	\$20	\$30		\$35	\$21	30		\$25	10	30		23	\$17	\$30		\$42	375	118	20	5.90	С
86	FBSCIT23110	YADAV ADITYA DILIP SUNITA	\$12	13		\$21	\$18	4		\$36	\$15	8		\$25	10	0		20	10	16		\$22	230	54	10		F
87	FBSCIT23111	YADAV ADITYA RAJNATH SUMAN	\$12	\$30		\$25	\$24	30		\$35	\$17	13		\$26	10	30		34	\$16	9		\$33	344	102	16		F
88	FBSCIT23112	YADAV AMANKUMAR MANOJKUMAR SHASHIKALADEVI	\$12	\$30		\$22	\$10	AB		\$25	\$10	\$30		\$25	\$10	AB		\$22	\$17	\$30		\$42	285	86	16		F
89	FBSCIT23113	/ YADAV KAJOL RAMBHAJAN GEETA	\$14	\$38		\$41	\$23	\$30		\$36	\$25	\$30		\$32	10	39		45	\$17	\$30		\$42	452	152	20	7.60) B+
90	FBSCIT23115	/ YADAV PRIYA MANOJ SUNTIA	\$12	\$45		\$20	\$22	\$36		\$36	\$21	\$30		\$33	10	\$30		23	\$17	\$31		\$47	413	130	20	6.50	В
91	FBSCIT23116	YADAV RAVI MAHENDRA SAVITRI	\$12	30		\$30	\$18	3		\$35	\$12	\$30		\$29	10	33		25	\$17	\$30		\$42	356	114	18		F
92	FBSCIT23117	YADAV ROHAN RAJESH KUMAR RADHA	\$12	\$30		\$27	\$20	18		\$35	\$17	17		\$20	10	30		32	\$17	\$40		\$37	362	102	16		F